Ao,

Log Optical Density (600 nm)

g
< MC58 modA11 ON  growth rate = 56 +0.62
p=0.363
O MC58 modA11::kan growth rate = 57 £0.58
0.01 T - v . - \
0.0 1.0 20 30 40 50 6.0
Time (hrs)
B
10 !
: 7
g
2,, 8
j73
a]
®
2
a
o
j=
o
—
< FA1090 modA13 0N growth rate =134 +4.1
p=0.068
o FA1090 modA13::kan growth rate = 126+ 1.2
0.01 T T T T |
00 10 20 30 40 50 60
Time (hrs)
C o ] -
]
™ -
E
=
-
3 H
c
o
o
<
Z -
204
5 @ -
a
©
8
o
[¢]
j=2
o
—
<©B6116/97 modA12 ON growth rate =60 + 0.5
p=0.363
0 B6116/97 modA12::kan growth rate =61+ 1.5
0.0
0.0 1.0 2.0 3.0 4.0 5.0 6.0
Time (hrs)
D 10 - 3 3 k3 k3 =z
3
3 g B ©o U
k3 |
—~ o
€ n
=
o
o
e
> B
201
J°3
a
©
8
°
]
j=J
o
—
< 96D551 modA120ON  growth rate =76 +7.5 0.04
0 96D551modA12:kan growth rate = 96 +9.0 P~ 0047
0.0 T T T T
0.0 1.0 2.0 3.0 4.0 5.0 6.0

Time (hrs)



